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NCERT Exemplar MCQs
Let T be the set of all triangles in the Euclidean planen
and let a relation R on I'be defined as aRb, if a is congruent
b Ya bal Then, Ris
(&) reflexive but nol transitive
i) transitive but not symmetric
() equivalence
idy None of these
Consider the non-empty set consisting of children im a Bmly
and a relation R defined as o & Bif a is beother of b Then R
is
(a) symmetric but not transitive
(b transitive bul nol symmetric
() neither symmetric nor transitive
(d) both symmetric and transitive
The maximum number of equivalence relabons on the sel
A={l1 23} are
(a1 b 2
c) 3 id) 5
If a relation R on set {1, 2, 3} be defined by R = {(1, 2)},
then R s
(a) reflexive (h) transitive
(€] symmetric id) None of these
Let us define a relation R in R as aRbilfa = b Then K is
(a) an equivalence relation
(b} reflexive, transitive but nod symmetnc
(€) symmetric, transitive but not reflexive
(dy neither transitive nor reflexive but symmetric
The relation R = {(1, 1), (2, 2), (3, 3, (0. 20 (2. 30, (1. 3)}
onstA= (1,238
(a) Refexive but aot syrmetnc
(b} Reflexive but not transitive
¢l Symmetric and transitive
(dy MNesther symmetric nor transitive
The dentity element for the binary operation * defined on

O-[0jasa* b= %,Vmbsg- 0] is

(a) 1 by O

) 2 id) None of these

If the set A contains § elements and the st B contains &
elements, then the number of one-one and onto mapping
from A to B 1s

(a) T h) 120

i€y 0 id) None of these
IftA={1,2.3,....,njand B= {a, b}. Then, the number of
surjections from A into B 15
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13,

14,

15

1.

17.

18.

(a) Py
ey 2*-1

(h) 2°-2
{d} None of these

Let 2 B — B be defined by f{x}=%‘n’xER_Thm fis

{a) one-one (bl onto
() hijective {di [isnot defined
Lei 72 R — R bedefined by fix)=3x"-5Sandg: R =R
by g(x)= ; . Then gof is

x° 4]
® xi-5 - -5
¥ et aint 26 o' —6x2 +26

3 n?

——— d ———

© xdem?-g © oxt 43002 -2
Which of the folbowing functions Bom Z into F are Iepective?
(a) fix)=x b fix)=x+2

(c) Axp=2n+1 (d) Axj=x+1

If f: R—R be the funciion defined by

fix) = x* + 5, then £Y{x) is equal to:

(a) (x+35)* (b (x-5)"

€) (5-xp\* {di (5-x)

INe: A—Band g : B — C be the bijective functions, then
(gof )" s

(a) fog! (b) Jog
) glor (dy gof

Nk O Ix+2 o
Letf: R {5}-.uh:dcﬁnudbyf[:}-h_].1hm

(@) [x) = fix) () '(x)=-fix)

1
iy T-'{x)= —fix)

(e) (fofx=-x T
If fix} is defined on [0, 1] by the rule
X A% rational
FOO=T11_x : x is imrational
then for all x & R, T{flx)) is
(&) constant by 1+x
) x {dl Mone of these

Iff: [2, ®) = R be the function defined by f(x) = x* - 4x
+ 5, then the range of {15

(a) R (b [1, =)

ey [4, =) iy |5, =)

Let £ N — R be the function defined by
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2x -1
2

by;(x)-)t'l‘nnn(po-;-is

fix)=

(b 0 () (d) 3

Let f: R —» R be defined by

(a) 1

i

2x : x>3
f(x)={x’ | l<x<3
3x : xsl

Then F(= 1)+ 1(2)+ F(4)1s

(@) 9 by 14

(c) 3 (d) None of these

Let £ R —» R be given by fix) = tan x. Then (1) is

=
4
(¢) does not exist

(a) (b) {luu%:nel}

(d) None of these

and g Q -» R be another function defined

If g is the mverse of a function fand f‘(x):l—';. then
+x

£'(x) is equal to: [JEE MAIN 2014, C]

1 3

) — (b) 1+{glx)y

1+{g(x)) J
© 141 ) s

X-m

X=n

[BITSAT 2014, A]

Let f:R —» R be a function defined by f(x)=
where m = n | then

(b) [is coc-one mto
(d) s many-one into

(a) fis onc-one onto
(€) (s many-cae onto

. Wp={x. X +y¥=lx ye R} Then pis

|BITSAT 2015, A)
(3) reflexive (b) symmetric
(¢) tramsitive (d) anti-symmetric

ax+b : .
Letf(x)= ;:d'.llufof(x)-x.pmdadtlnl.
|BETSAT, 2016, A)
(b) d=a
(d) a=b=c=d=1

(a) d=~a
(c) a=b=1

Thtﬁmclinf:k-o[--;-.%] defined as fix) = 7.8
I+x

JJEE MAIN 2017, A

(2) neither injective nor sunective

(b) mvertible

(c) injective but not surjective

(d) surpective but not injective

Let fand g be functions from R to R defined as

7 +x-Rxsl x|, x<=3
JS(x)={4x+85 l<xs7, g(x)={0, -3sx<2
8x+3,x>7 44,122
Then [BITSAT 2017, 8)
(a) (fog)(-3)=~8 (b) (fog) (9) = 683
(©) (gof)(0)=-8 (d) (gof) (6) =427
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